H & 0l & AHS B Ml A

M T THE 22
=t =M &2 (CHol: &S1)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
MIE 1,206,976 1,297,420 A0, 444
= 107,658
Al 1,099,318
Al THE 2tel 1,098,664 1,175,424 AT6,760
= 107,658
Al 991,006
A== =2 1,098,664 1,175,424 AT6,760
= 107,658
Al 991,006
SEIA 2t 495,768 457,660 38,108
101 eI t| 69,288 41,726 27,562
M IIZtH22 S8 69,288 41,726 27,562
OERXl, A=SLHEZAL AIFIR 37,526
-1 78,8802 x2ZH x180 28,397
Al 2,0002x2H %180 720
~MEIZIE MY 120,5203 x2H +8H 1,929
=5 78,880 x2H 36 5,680
—wEH| 50,0002 x2H+8& 800
OEX.ASE LHZAL AIHIR B8 & 4,09%
-0z RE3 36,804,000 *4.5% 1,657
2AUEEE 2E2
36,804,0002 %3.545% 1,305
1228z Y3 36,804,000 *1.75% 645
“~IHEEZ RFE3
32,507,000 x0.982% 320
-LoIEDQASEHERES
1,305,000 *12.81% 168
OXZA Mg = 82X 24,920
-1 78,8303 * 1 242 19,089
Al 2,0002 x 1 %242 484
~MEI B MG
120,520+ 1E+ 112 1,326
-=5g 78,880 * 1 44 3,471
-uSH| 50,000&* 1« 11& 550
OXIZA Mg -~ EX 282 2,747
=0z RE= 24,436,000 *4. 5% 1,100
HAPE s FE2
24,436,000 x3.545% 867
-1228s RfE3 24,436,000& *1.75% 428
“SEEzs fE3
24,436,000 x0.982% 240
-LoIAI I RASEHERES
867,000 *12.81% 112
201 L2 | 254,781 244 4N 10,290




2A:

M e 2zl
o A= &2 (SH9 H2)
. = SIE]
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
01 ArR2eltl 99,678 89,388 10,290
Oget=Z| 97,858
-OCRYIOIMZIE JtERIX P(IXAM &
#E) 237,000 »8CH*33] 5,688
ORLXN E=HE HEIZEH AZE 22
EH & 98) 1,800,000& 123 21,600
~HAKIRSRE (10 HYTY
270,0002 * 1004 2,700
-KgA IXA 258 HEF ME
50& 100,000 5,000
-KN2A 20 MaHel X 2 43,710
SEHSIMI(HEE) DKM
70,5003 409 A 2,820
CKIYASN AIEHNZR - SFHSAD
=22 A 70,5003 *30E A 2,115
N2l MADXIA
70,5003 #4089 A 2,820
HIIE EAM2XIA
70,5003 #2208 A 15,510
REHE DXNM(FSEHS)
70,5003 *508F A 3,525
SELEE ZHDIA
70,5003 1008 A 7,050
SEIXM 2 70,5003 1408 A 9,870
-HONl ROt SIS HIE
50,0002 * 1070 2 500
-XrSXtAl 20 E2HItE ME
50,0003 *10J4 223 1,000
ANl 20 ZHIIE M=
50,0002 *10J4 223l 1,000
-THAEN R0 E2CHHE MZ
200&*5,00001*23] 2,000
-F0IN 2ot E22IE M
50,0003 109 2~ 500
“KILUASM MDY SHIE MZE
50,0002 =10 2 x43] 2,000
-KYASM ADERE BE 2|2 S A
4002 * 12,500 5,000
~FSH(RESA) AN L AZF2E U2
K= 2002 *10,00004 2,000
“ZOHQ!, GRS X2 FHSM ZH & FH0oF
L 2ISR ME 4002 «5,0000H 2,000
-NLASM ASRUelel 23 AR5 S
= 500,0002*13 500
-NEASA ADMH 2,660
SEASE MHEH EXId]
2,000,000&*1& 2,000




2A:

M T THE 22l
CR: A= =2 (9._94:;‘;_.{_3_])
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
SEASE AMDHE 29|
5,000 6 22! 660
o294 1,820
TEAIACISI S| EA L
70,0003 x6H x23| 840
DIRAARIRE| B ST
70,000& x7H *x23| 980
02 S324| 155,103 155,103 0
O3222 ¥ HAl 139,000
KA DXAESE SIISH
2,530&%15,0004 37,950
-NYHDXNA(EIR) L G2oUe ¢S
ABIRTEZ 4303 *200,000A 86,000
-XYASH AFECHHE & 2EUSA DY
SN LS LUSTE
430& *x35,00021 15,050
OAEEHIS XY 2,975
XAl DEZEIE(SED]) |AE%H]
59,500,000 *5% 2,975
OXIZA(MRDX], A 2| M) HAAIA
8 A2 349,000+ 12& 4,188
ONSE 2HEHE2(ARS)AIAE SXE4
745,000 128 8,940
202 44| 13,800 30,300 A 16,500
01 2L Y| 13,800 30,300 A 16,500
OXNMAEL R =& (4]
200,000& *10H #43| 8,000
OZFISEM HHIXE ZAF =& 4]
200, 0002 *3H *x43| *50% 1,200
OXEHl HISE 245 Iasl U T &4
200, 000 *x4H *4.3| x50% 1,600
OE=XLUNAEBAIAE AIEX e EA
200, 0002 x2H *x53| x50% 1,000
OfNd T =2 XgA A70N 2HES FA
200,000 x20H 13| *50% 2,000
204 AR LA 55,200 57,600 N2,400
02 SEEREH| 55,200 57,600 2,400
ONREYSRA 100,000 46X x 128 55,200
301 LEIEXNZ= 640 640
14 J|EIE A= 640 640
OXNZA SAYMX OISH HME
700&+200¥ 140
OXNAN SAY MR 2FAHH I
100,000 *5H 500
306 == 15,380 15,803 N423
01 &2 15,380 15,803 A423




2 ™D
2 M W 2
H

o A== &2 (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OXNZMARRA EHZ
128,166,224 ,000& *0.012% 15,380
308 AXISHMSOIA 86,679 60,100 26,579
13 I 2 S0 CHeHE & X ALY 86,679 60, 100 26,579
OXHMICH XIZMEEAAE R E
86,679,000 14| 86,679
SAEHo S 36,814 38,814 A2,000
201 B2 AL| 36,814 38,814 A2,000
01 ArR222ltl 36,814 38,814 A2,000
Oget=2| 33,814
-NLA DA 2 =2
100& 170,000 17,000
~KIAl MRDX AFEZ()
4,510,000& *13] 4,510
-NIYSE 2EIS2(ARS) HIANES
3562 *18,00024 6,408
NgH BUDX gs 242
220&%10,00024 2,200
NI EE 2EER(ARS) 2RHM)IAIEE
16.5&*24,0002H 3%
~HISE 2EER(ARS) AEIHE EHHH
T2 2202 %15,00024 3,300
OXZM dFelelHE 28 elE2R & J
= 1,000& *2,0000H 2,000
Oo2gs4 1,000
KA dFHelel =
100,000& * 102! 1,000
Mgzl #EX 228,525 315,227 A86,702
201 Let2| 196,650 239,277 N2 ,627
01 Ar22teltl 32,99 35,147 AN2,152
2 ot=ZH| 32,99
KAl M 2ol Sl =(4A) M
50,0003 x20 01 2~ *23| 2,000
FHY Y2 e Pl
46,6402 102t Ax 128 5,697
KA MR =8 == 13,218
SSA Y(B)H B 22 +42
2,000 6021 +23| * 122 2,880
Solga +48
1,200& 2024+ 12& 288
Mexie ¥ SE4 2ojas2
470,000& x 154 7,050
WHAE U A 4R
3,000& 1,000 3,000
“MEXtg HSHAX 57 L A&
20,0002 x24 = 480




2A:

33 T HEA 2l
ol A &2 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-KZA MY SSMHE 23] S8 =5
2,0003%30021 %23 1,200
-HExtg SXESE dESERY|
10,0002 *50CH 500
“AAIZH AEEE IZAAY 29
10,000,000 * 14! 10,000
02 S5=g4l 163,655 204,130 A40,475
02223 2 HAl 161,775
MM ML DN GRS e bt
= 02 x250,00021 107,500
XA M SE5& 25 SI|IfEE
2,530& 15,0002 37,950
-N2A HEA ok & HALF Ol IS
A 25 SIIREE 2,530&#2,50021 6,325
OAIZ2 &= X 11,880
HEZESSALE & OI0IXAH AIAE
SN2 660,000& * 122 7,920
-Hgitg HsE ALY 2Y
330,000& * 122 3,960
202 04l 31,200 39,600 28,400
01 =LHNHI 31,200 39,600 A8,400
OXIZAl MRS A L HEH A0
20,0003 %12 *102/« 122 28,800
OXIAl 2212 M = & MEX
= Es 200,000 x4 H«6E x50% 2,400
301 EtE NS 675 1,350 AB75
14 JIEt2d=3 675 1,350 AB75
O30 & IXIXE FlE 24l 675
—SOIRE ZHAC e 244l
270,000 *5CH*50% 675
Hel+=g &3 61,015 68,715 NT,700
201 et 3| 13,450 12,912 538
01 At22t2l] 13,450 12,912 538
Oget=ZH] 13,450
-QISJ| =&t 220,000 x25CH *40% 2,200
157 425 F¢Y 450,000 *25CH 11,250
308 AHAIEMSOIE 40,965 40,203 762
183 S| 2SO ZB XA AIE 40,965 40,203 762
OM+=LEBAIAY SN2+
40,965,000& *14] 40,965
405 KHaHE SH 6,600 6,600
01 AL =S F = 6.600 6,600
L2030 WA Y
2,200,000 «3CH 6,600
IHEFERDFA AL 276,542 295,008 18,466
= 107,658




2A:

33 T HEA 2l
ol A &2 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 168,884
101 @1A4H| 97,009 114,262 A17,253
= 38,338
Al 58,671
04 JIZtN2Z2XNSE 97,009 114,262 A17,253
ONEFEDIA AL At QIR 87,362
-2 78,8803 x5 x 166 65,471
= 25,872
Al 39,599
—2FAMH| 2,000 x5 » 166 1,660
= 656
Al 1,004
—MEASENSY 120,5203 x5 +8E 4,821
= 1,906
Al 2,915
-=s5=g 78,8802 x5 +34 13,410
= 5,300
Al 8,110
- SHl 50,0002 5«82 2,000
= 791
Al 1,209
ONEFEDIIA ZAF 018 288 9,647
-=03 BE= 85,702,000& 4. 5% 3,857
= 1,525
Al 2,332
-ALLEE FE82
85,702,000 +3.545% 3,039
= 1,201
Al 1,838
-UEEEE RE=E 85,702,000 *1.75% 1,500
= 593
Al 907
~MEEE R83
85,702,000& *1.004% 861
= 340
Al 521
-LARLEEE RES
3,039,000 *12.81% 390
= 154
Al 236
201 fer23y| 175,213 176,426 A1,213
= 67,469
Al 107,744
01 AtR2te|H] 175,213 175,213 0




2A:

M T THE 22
ol A &2 (SH &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OINE=EDIA T AL AtR2t2| | 175,213
NS T T A
200,000 * 1100 2 2,200
NEFEIIA ARBIA BEL4E
6,7002%22,4815 150,623
= 67,469
Al 83,14
OfEFEINA JANEE AE4E
7,620 %100& 762
SHEFSOIH 01NN AELL2
25, 4103 x2255 *50% 2,859
OIZA ZEFEIIH FAKE 442
70,0003 284 1,960
-HEFEIIAZAL & EEE ScHIHEME
50,0003 #2304 2 *33| 3,450
HEFHIHTN L SHTAE Hrold
2l 4,00024 15021 600
NEFIIHTN AR 2UBT 2
29,7003 202 A 594
heEEed 2R wo
110& %29, 50004 3,245
-HEFEDIZZALE SAMEX 2L
20,0003 5t A% 12E 1,200
SNE=EOIATAL FOHE & 2
250,000 47 1,000
-Zetd0IdZele ItERIX 2
960,0002 *1CH*33] 2,880
SIEESpIEIE IVE S I
8,000& 3 +203|+8& 3,840
202 04d| 4,320 4,320 0
= 1,851
Al 2,469
01 =WO4bI 4,320 4,320 0
OMNE DA AL 04|
20,0002 x3Z 6L« 122 4,320
= 1,851
Al 2,469
HY2IZHI(AE) 108,312 121,9% A13,684
JI2ZHI(ME D) 108,312 121,99 A13,684
JI23HI (&) 108,312 121,99 A13,684
201 Let2| 55,704 56,704 21,000
01 Ar2eltl 55,704 56,704 A1,000
Oge=2| 31,224
-J|Z2AISE3H| 100,000 46X 4,600
-SAD| 7X2e 400,000& x2CH*43] 3,200
-SAEX 2 23,0003 x4 A+ 123 6,624




SN HIED
3. AY2I3HI(MED)
CHRl: J12ZdI(ME D) (CH9: /M)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
-HElE 2 BA RXZ22(EWUTY )
237,000& « 150 +42] 14,220
Dol B Wes)| HeR
25,0008 20+ 122 600
-Zet=AD| s 165,000 122 1,980
O=gtl 24,480
-HIEESR =4 A
8,000 x35H+53|x 123 16,800
-HMEXtE ot S E FX S20HAt]
8,000 x40 *23|* 12 7,680
202 04| 48,000 60,000 212,000
01 SLHoIH 48,000 60,000 A12,000
OXIEAl SBR=X 201
20,0002 «20E %102 * 122 48,000
203 HR=AH] 4,608 5,22 N6B4A
M A=Y= 4,608 5,292 N684
OMIE 1k 480,000 * 12 +80% 4,608




